
Séquence de Nombres Linéaires (C)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 849 624 549 474Différence commune:2. 1000 900 700 600 500 300Différence commune:3. 748 723 698 673 648 623 598 573Différence commune:4. 1000 600 300 200Différence commune:5. 1000 900 800 500 300 200 100Différence commune:6. 949 944 939 934 929 909 904Différence commune:7. 759 609 459Différence commune:8. 192 187 177 167 152 147Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (C) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 924 849 774 699 624 549 474 399 324 249Différence commune: -752. 1000 900 800 700 600 500 400 300 200 100Différence commune: -1003. 748 723 698 673 648 623 598 573 548 523Différence commune: -254. 1000 900 800 700 600 500 400 300 200 100Différence commune: -1005. 1000 900 800 700 600 500 400 300 200 100Différence commune: -1006. 949 944 939 934 929 924 919 914 909 904Différence commune: -57. 984 909 834 759 684 609 534 459 384 309Différence commune: -758. 192 187 182 177 172 167 162 157 152 147Différence commune: -5Mathslibres.com


